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Instructions:

The figure in the margin indicate full marks.
Answer eight question, selecting three each from section-I and Section-1I and two from Section-I111
Candidates are required to give their answers in their own owrds as far as practicable.
All questions have been printed both in Hindi and English. In case of any ambiguity in Hindi version, the
English version shall be condidered authentic.
Parts of the same question must be answered together and must not be interposed between answers to other
question.
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@e-1/Section-I

1. Describe the people's participation in Bihar during the Quit India Movement of 1942. 38

1942 & 9RA SISl STEEA & SR faeR H SHYFASRI &1 9o hifsl

2. Discuss the development of Western education in Bihar from 1813 to 1947. 38

faer ¥ 1813 ¥ 1947 I uv=rcd fenm & fasem =t fae=m wifs)

3. Throw light o Mauryan Art and analyze its impact in Bihar. 38

ORf Fell T TR eiferd qe foaer § 36 u9e o1 fagervor Sifsal

4. "Gandhi's mystique consisted of a union of original ideas with a remarkable flair for tactics and an uncanny

insight in the mass mind." Elucidate. 38
“Trieft Y wEHRA | Hifersh foERl 1, @t B G8s g oI ol S § o U9 @ are
e Hr I §1” e w1

5. Evaluate the contribution of Rabindranath Tagor in Bengali literature and music. 38

T g qon Tita W W HR F ATEH H oA it

6. Examine the main featurs of Foreign Policy of Jawaharlal Nehru. 38

TATeted e® i foRy-ifd & Tg@ <o w1 Tdern Hifsd|

WE-11 / Section-II

7. Whatis Doklam standoft? What were its underlying causes? What did India learn on diplomatic and strategic

platform from its? Can the Gandhian philosophy be helpful in resolving such disputes? If yes, how? 38
i Ty o 87 THe fdfHled RO 1 &2 IR A S99 ol T WHIfaw B W Har?
1 T8 YR & fgamel #1 gore o T <o st g weRar 82 Afg €, @ a?

8. Elucidate the Demonetisation Scheme. In your views, up to what extent it was successful or unsuccessful?

What were its effects on the Liquour Ben Policy of the Bihar Government? 38
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gt A1 T it TUeh faarl o 69 33 a 9% AN 9%a 10dl 3w @17 foeR
WHR & IV G W 96 = g9E T2

Thoroughly explain the disputes between North Korea and America. Is United Nations playing an important
role in resolving this dispute? If yes, How? And, if no, what are the underlying reasons? Give some suitable
suggestions in resolving this issue. 38

SW FIfE @ sfEn & o= foere 1 faer 9 99y =1 39 foar & ga &0 | 99 T &
Tewqul ftent fa1 w1 2 @ #4? @R, ik TE, o s@e sfafifed wRo @ €2 39 faa w1 gerwH
¥ % IUH ggE It

What is GST? What were the major reasons behind its introduction in India? What were the pros and cons
of its implementation on India's economy and its monetary policy? 38

SHTH A, 2 9Rd ° 3Eh UEE % 19 9 YW HRU 4?2 WA i eferewen ud Hifgsh Aifd W
TS HEAFEIT ¥ F A9 Td THEE g2
What do you understand by human rights? Throw light on the Universal Declaration of Human Rights

(1948) by UNO. What were the major efforts made by the Bihar Government in fostering them in last
decade? 38

ARl | 39 o THgd 82 g T G9 gR WEEUhR i e Juen (1948) W g
eiferdll foeR TR g1 fUse T 39 # 3= deel <4 8q 1 9@ W fed T
Study the following line graph which gives the percent profit earned by the three companies A, B and C

during the period from 2011 to 2016 and answer the questions given below: 38
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(a) The income of company B in 2012 was ¥ 60 Lakhs, which increased by 30% in the year 2013. Find
the expenditure of company B in the year 2013.

(b) If the expenditure of companies A, B and C in the year 2016 were equal and their total income in
that year was ¥ 870 lakhs, find the profit of each company in that year.

(c) Ifthe companies A, B and C had an expenditure of ¥ 200 lakhs, ¥ 300 lakhs and ¥ 400 lakhs repectively
in the year 2014, find the ratio of their profits in 2014.

(d) If the incomes of companies A, B and C in the year 2015 were equal and their total expenditure in
that year was ¥ 1,835 lakhs, find the profit of each company in that year.

=1 YEr-sterE 1 steAEe wifee, fad W wufTai A, B den C g SAfSa wfaw @y ety 2011
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(F) @9 2012 § ®UA B &I 3T T 60 @@ off, St a9 2013 W 30% 9€ M| A B HT a9 2013 H

=g A hife|

(@) afg wufi A, B @& C &1 98 2016 H = SEX o1 T 37! 39 99 | et ™ T 870 TG

off, A Yk hal 1 SH a8 H oy G Hifed|

(M) afe wuHAi A, B 921 C 1 99 2014 H == $HHY: T 200 oG, T 300 <G qe1 T 400 TG o,

@ ¥ 2014 H 37 I HT STA TG DTS

(=) A wAA A, B 1 C &1 96 2015 H 3T ¥R off G 37961 39 99 H el =49 3 1,835 @@

o, d Yook Ul &1 3T 99 H o9 1 it

13.  Study the data given in the following multiple bar chart which shows the production, export and import
(in ¥ crore) of country X during the period from 2006 to 2013, and answer the questions given below it:

(a)

(b)
(©)
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In which years the ratio of export and import was maximum and minimum for country X? What were
those ratios? 6
In which year the highest percent of its production was exported? What was that percentage value?6
If for the country Y, the ratio of production, import and export is 7 : 6 : 5 and production in Y in the
year 2014 is double the production in X in the year 2013, what was the value of the export and import
from Y in the year 2014? 8
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(d) What percentage of production was imported in the year 2008 and 2012 in country X? 6
(e) What percentage of export should be increased in 2007 in X so that the difference between its
production and export is ¥4 of its import? 10
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(F) W X &1 fF7 oo & ffd @ @@ F1 oua Afushads @ <Aade o2 3 STua F o7
(@) g ad ° s9% IR 1 Gaitye Yiaed faiq gan? 98 dfaed 7 fha on?

(M) =R fRE WY ® ol Scaed, S ue el 1 | 7:6:5 € SR Y ¥ a9 2014 #
SARA X H 2013 % ScARA I & A B, WY H 96 2014 H g A W@ SFEE w1 AE
F 12

(&) WX ¥ g9 2008 TH 2012 H IRA F1 fohaT gfawra emma foham mn?

(F) 0 X ¥ 99 2007 ¥ fafa foraw wfaer agr@n sme fF s9e 3caed wd fafd &1 S|, 39

T Ve B STE?
14. Study the following pie charts which shows the sales for a company in India in the year 2016-17 and
answer the questions given below it: 38
Sales by location of company Sales by product
(in million &) (in million &)

Mobile

65°
70° (2
Cement

Total sales : ¥ 1,800 million

(a) Inthenextyear, the sales of cars were expected to be double, assuming that the total sales are increased
by ¥ 200 million, what would be the percentage share of cars in the total sales?

(b) If in the subsequent year, the mobiles are to increase their share by 20%, then assumping that the
total sales are again increased by ¥ 200 million, by how many millions of rupees the mobile sales
would be increased?

(c) If40% of the cement sales were in Maharashtra, then what was the value of sales of other products
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in Maharashtra in millions of rupees in 2016-17?

(d) Ifin 2016-17, Delhi has the sales of only cement, steel and cars and that in the ratio 5 : 3 : 1, then
what percentage of cement out of total cement sales in India was sold in Delhi?

e o YEifeA F eI Hitd, Y 9IRG ®T T O HI e a9 2016-17 § I T ©, a4
I U B W AR, 1 osEe e R T R

FEqH B T AR fazhl
(¢ taferma )

Fa fsht : 1,800 fferA

(%) Al et o &R *i foskt < T BH HT Hae 7 e a8 wH ol R g fasmt o 2200
fafeam =t 9fg &8 €, @ SR &1 fawt &1 feww st fosht o1 fopan gfaem 2

(@) AR A ot o o Hiemsa fash! &1 {68 20% 9¢ S a1 71 e T % fast § g4: 3200
fafeam =1 9fg &8 €, @ HeEa fokl o wa frad fafeem saw 1 gfg gni?

(M) g 2016-17 H HiHe fashl 1 40% TR H o, T FeR § 374 WMl i okt &1 goa fohad
Tafer wuT on?

() A% 2016-17 ¥ feoeht & Haa dHe, @id IR R &1 fawt g8 e iR 391 o 5:3: 1 @,
@ 9Ra ¥ wo dide okt &1 fhad faea fast feeedt o g22

The following graph shows the expenditure on arms of the three countries A, B and C (in ¥ thousand

millions). Answer the questions that follow on the basis of the graph: 38
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(a) Which country had the steepest rise in its expenditure on arms compared to the previous year and in

which year? 5
(b) What was the percentage increase in expenditure on arms of country A in 2017 compared to 2012?
(c) The amount spent by country B in 2017 is what percentage of amount spent by it in 2011? 5

(d) Ifin 2018, the amount spent by country C will be 30% more than that in the last year and the amount
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spent by country A in 2018 remains same as that in 2017, what will be the difference between C and

Ain arms in the year 2018? 11
(e) What percentage of expenditure on arms should be increased by the countries A and B in 2015 so
that the expenditure on arms by A, B and C becomes same for the year 2015? 10
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(%) fora 3w 4 efoeml W ge =@ ¥ fiod a¥ @ qeee waitus 9hs g8 ue fhg ad 852
(@) 3W A H 2012 & T&HEd 2017 H SREA” W ¢ =9 | fohdd gfawd &1 gfg g57
() =B W 2017 ¥ =T H1 T AR 2011 § =T H1 T R H1 fohad wfawr efi?

(71) 4afg 2018 & 391 C g =@ &t T AR Tt ad & o B 30% AUk & AA W A B
Y =79 i TE WET 2017 § =77 1 TS AR & THF &, 9 99 2018 H 331 C 91 A g &l
4 =g Uiyl & o= fedw s =mm?

(¥) 3 A Td B g1 2015 ® Bo@R W T =@ ¥ forad wfava &1 gfg &1 <@ 7% 2015 & A, B
Td C 1 1 AN W 8H 9 =99 99H 8 9?2
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